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225 | = i 3,333 [110/02/18 |A- & Ris 2 Gipfee] |- 42 =
226 | % i > 6,000 [110/02/18 |A ¢ pRir2 A¥pfee{E [~ i d =
227 |75 4 150 [110/02/18 |4+ ¢ JRss % Lipser|E |- 48 2
228 | 4z 3,000 [110/02/19 |A+ & mRis 2 Gipfee]d |- 42 =
229 | % 7 {14 e > 11,945 [110/02/19 |+ & pRir = &spge]d |- 48 2
230 |F %% 500 [110/02/19 [A+ ¢ rRix2 S| |- 4nd =
231 |# ¥ 7¢ 500 |110/02/19 [At ¢ PRis % Lapfer{E |- 4p 2 =
232 |3 % & 3,000 [110/02/22 |A+ ¢ reix2 &ipfer{E |- 42 =
233 | k4 1,000 [110/02/22 |4 ¢ pRix 2 Lipder{d |- 4% 2
234 | ¥4 5t 50,000 |110/02/22 [+ g pRix2 Lapker{d |- 42 =
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235 |2 2 ¢4 10,000 |110/02/22 [i+ g PRA% 2 Lpfee{d |- 48 =
236 | 2 g3k 10,000 |110/02/22 |4+ g PRA% 2 Lpfee{d |- 48 =
237 |37 45 11 10,000 |110/02/22 i+ g PRA% 2 Lpfee{d |- 48 =
238 |54k 8 7 500 [110/02/22 [A- ¢ PRFx% Lapfee{® |- 48 =
239 |5 % = 300 [110/02/22 i+ ¢ PRFx% Lapfee{E |- 48 =
240 |5 ® 300 [110/02/22 [i+ g pR3x2 Lpfee{E |- 48 =
241 | 2+ 300 [110/02/22 [i+ g PR3x2 Lpfee{E |- 48 =
242 |5 7e 5 300 [110/02/22 [i+ g PR3x2 Lpfee{E |- 48 =
243 |- 300 [110/02/22 [i- ¢ PRFx% Lapfee{® |- 48 =
244 |2 2 4 5,000 |110/02/22 it g PRAx2 Lspfee{E |BE B L 2
245 |2 2 4 5,000 |110/02/22 it g PRFx2 Lpfee{d |2 % & =
246 | % 2 #4< 5,000 |110/02/22 it g PRA% 2 Lpfee{d | ®#EL =
247 |5 3 #4< 5,000 |110/02/22 it g PRF% 2 Lpfee{E |ame =
248 | F . 4 500 [110/02/23 [i- ¢ PRFx % Lapfee{® |- 48 =
249 | 7e 200 [110/02/23 [ ¢ PRFx % Lapfee{® |- 48 =
250 | 3 it 200 [110/02/23 [ ¢ PRFx % Lapfee{® |- 48 =
251 |5 R 4 200 [110/02/23 [ ¢ PRFx % Lapfee{® |- 48 =
252 | iR i 100 |110/02/23 |4+ € PRix 2 Lipser|{ 8 [- 48 2
253 | ;£ 4. 100 |110/02/23 |4+ € PRix 2 Lipser|{ 8 [- 48 2
254 | F 4 100 |110/02/23 |4+ € PRix 2 Lipser|{ 8 [- 48 2
255 |;% 42 100 |110/02/23 |4+ € PRix 2 Lipser|{ 8 [- 48 2
256 |;£ #a 100 |110/02/23 |a € pRir 2 Lipgee|d [~ i =
257 | Wik 100 |110/02/23 |A € PRix % Eipsee| 8 |- 2% 2
258 |zF 2 4 100 |110/02/23 |A € PRix % Eipsee|{ 8 |- 2% 2
259 £ %% K 100 |110/02/23 |A € PRir % Eipgee|{ 8 |- 2% 2
260 |84 2,000 |110/02/23 |A- € PRFx % Lapfee{® |- 48 =
261 |#n 45 = 2,000 |110/02/23 |A- € PRFx % Lapfee{d |- 48 =
262 |3t s 2,000 |110/02/23 |A- € PRFx % Lapfee{d |- 48 =
263 | FFil ™ 2,000 |110/02/23 [+ € prix2 Lapfer|® |- 48 =
264 | 3 =% 375 |110/02/23 [+ € PR3 Lipfgee|® |- 4 =
265 % T % 375 [110/02/23 [A- g PRAx 2 Lupfer|® |- & & =
266 |35 4 375 [110/02/23 [ ¢ PRFx % Lapfee{d |- 48 =
267 | % sl 375 |110/02/23 |4+ € pRix2 Lipfer|E |- 48 =
268 | i 3E ik 1,000 [110/02/23 |4+ ¢ PRix 2 Lipse| g [~ 4 =2
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269 | %2 & 100 [110/02/23 |4 € PRFX%2 LEpfe| & |- &5 =
270 | £ o3 5,000 [110/02/23 [A+ € PRF*%2 L¥pfr| & |- &% =
271 [ 5 o3 5,000 [110/02/23 [A+ € PRF*+%2 L¥pfr| & |- &% =
272 | % a1 5,000 [110/02/23 [# € PRFx%2 LEpfr| & |- &% =
273 [ tkim 2 5,000 [110/02/23 [#+ € PRFx+%2 L¥pfr| & |- &% =
274 | & 7 47 5,000 [110/02/23 [A € PRF*+%2 LEpfr| & |- &% =
275 | % #r 5 & 3 3 ¥5Ak - 20,000 [110/02/23 |4 € PRF+% LEpfre & |- &5 &
276 |5& 1,000 |110/02/23 |A+ € PRFx% L ipgeel® [- & & 2
277 | 5% 3= & 1,000 |110/02/23 |A+ € PRFx% L ipgeel{® [- & & 2
278 [5& i 1,000 |110/02/23 |A+ € PRFx% L ipgeel® [- & & 2
279 |5 & 4 1,000 |110/02/23 |A+ € PRFx% L ipgeel® [- &2 2
280 | 1% 1,000 |110/02/23 |A+ € PRFx% Lipgeel® [- & & 2
281 [Muazze 500 |110/02/23 |4+ € PRix% Lipseel® [- & & 2
282 |2 ¥ % 500 |110/02/23 |A+ € PRix% Lipseel® [- & & 2
283 |2 48 22 500 |110/02/23 |A+ ¢ PRix% Lipfee{d [- &% =2
284 |¥res 7 500 |110/02/23 |A+ € PRix% Lipseel® [- & & 2
285 [k & 2 500 |110/02/23 |4+ ¢ PRix% Lipfee{d [- &% =
286 |pn £ &= 500 |110/02/23 |A+ € PRix% Hipfee{d [- &2 =2
287 [ & % 500 |110/02/23 |4+ € PRix% Lipfee]{d [- & =2
288 |4k 38 & 500 |110/02/23 |4+ ¢ PRix% Lipfee{d [- &% =2
289 |#k- ™ 500 |110/02/23 |A+ € PRix% L ipgeel® [- & & 2
290 | ¥lA-48 200 1110/02/23 |A+ € PRFx% Lipgeel® [- & & =2
201 |45 200 [110/02/23 [ € pRir2 LHepgerld |- & & 2
292 |8 49 ke 200 [110/02/23 i+ € PRFx% LH¥pfce{d. |- 4 & 2
293 | %45 e 200 [110/02/23 [ € pRir2 LHEpgerld |- & & 2
294 | g F 200 [110/02/23 i+ € PRFx3% LH¥pfce{d. |- 4 & 2
295 [gE~ & 1,000 [110/02/23 |4+ € PRix% Lipfe| & [- &&=
296 [F Foip 300 |110/02/23 |4+ ¢ PRir% Hipfeel{d [- & =»
297 |5 1 5= 300 [110/02/23 i+ € PRix3% L¥pfce{d. |- 4 & 2
298 |7 + 2 500 |110/02/23 |4+ ¢ PRix% L ipfeel{d [ & =
209 ¥ 1 # 500 |110/02/23 [A- g PRix % A ¥pfee|E |- 4k =
300 |2 A 500 |110/02/23 |4+ ¢ PRix% L ipfeel{d [ & =2
301 | 222 2,000 |110/02/23 |A+-€ PRI+% LEpfeel . |- &% 7
302 |3 4w 2,000 [110/02/23 [A¢ PRix2 LiptcE |- i & =




Rz a# 2 EFFRGRFR RGP

A THERE ATRERS > BHRET > T iphoT
(AR ERSEHL AFRIFLLARSFREALD
EDEEF-I-0 N EREN I DEUER-E-AIP& E T
(E)rBRALERBEFS I FH IR L.

110#22 1p 2110#27% 28P

()R EFP2 iR o
(THHREATFL G2 LD
(F)rA &2 FB2 FrepiHt o
CHEsPErAeEREPeZ LN
B | W LA R &R (IR P P * i iﬁ: B
303 |3 2 % 2,000 [110/02/23 [A- € PRFx%2 L¥pfr| & |- &% =
304 |% %1% % 1,000 |110/02/23 |A+ € PRix%* Lipgeel{® [- & & 2
300 | B # 7 1,000 |110/02/23 |A+ € PRix% Lipgeel{® [- & & 2
306 | & p 5% 4,000 [110/02/23 |4 € PRF+% L¥pfre| & |- &% =
307 |4k * 4% 200 1110/02/23 |A+ € PRix% Lipsel® [- & & 7
308 |1 £ ¥ 200 1110/02/23 |4+ € PRix% Lipseel® [- & & 2
309 | %4 & 200 1110/02/23 |4+ € PRix% Lipseel® [- & & 2
10|75 = 200 1110/02/23 |4+ € PRix% Lipseel® [- & & 2
311 | & 200 1110/02/23 |4+ € PRix% Lipseel® [- & & 2
312 |1 &% 200 1110/02/23 |4+ € PRix% Lipseel® [- & & 2
3|+ & £ 200 1110/02/23 |4+ € PRix% Lipsel® [- & &~
314 [ Z 200 |110/02/23 |4+ € PRix% Lipseel® [- & & 2
315 |3k B 200 |110/02/23 |4+ € PRix% Lipseel® [- & & 2
316 |3=% & 200 1110/02/23 |A+ € PRFx% Lipgel® [- & & 2
317w 47 200 1110/02/23 |4+ € PRFx% Lipgeel® [- & & 2
318 |3n7e v 2,000 [110/02/23 [A- € PRFx%2 ¥ & |- &% =
319w &2 1,000 |110/02/23 |A+ € PRix% LHipgeel®  [- &2 2
320 [P . MR B IR. B 1,000 |110/02/23 |A+ € PRFx% LHipgeel®  [- &2 2
21 |12 x% 500 |110/02/23 |A+ € PRix% Lipseel® [- & & 2
322157 % 300 |110/02/23 |4+ € PRix% Lipseel® [- & & =2
323 | & &= 1,500 [110/02/23 |4+ € PRFx% & pfre] A 23 RES 2
324 | ¥R iR % 1,000 [110/02/23 |4+ € PRFx% & pfce] A L
325 | B § £ 6,600 [110/02/23 |4+ ¢ pRis2 &#ifee{d  |RF & =
N 3 %
wﬁzzgéa”&ww 30,000 [110/02/23 |4k ¢ PRis% &ipfee| L & LEARF F i b 2
327 | o 2 500 1110/02/24 |4+ € PRix2 Eipseeld [~ & & =2
328 | M iF e 500 1110/02/24 |4+ € PRix2 Eipseeld [~ & & =2
329 [ &% 500 1110/02/24 |4+ € PRix2 Eipfeeld [~ & & =2
330 | % % 500 1110/02/24 |4+ € PRix2 Eipseeld [~ & & =2
331 [z #» 500 1110/02/24 |4+ € PRix2 Eipseeld [~ & & =2
332 |3 B 1,000 [110/02/24 |4+ € PRFx% & spfce] A 3 R E
333 |+ % 3 1,000 [110/02/25 |4t € PRix% Lipfe| & [- &&=
334 | kiR B 1,000 [110/02/25 |4+ € PRix% Lipfe| & [- &&=
33b [& & = 100 [110/02/25 |4+ € PRIXZ HEgfes| & |- &5 =
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336 |8 " B 2,000 |110/02/25 |4t g PRF% 2 Lpfee{E |vame =
337 |m % & 200 [110/02/26 [4- ¢ PRFx% Lapfee{d |- 48 =
338 [& = = 1,415 [110/02/26 |4 € PRir 2 Lipsee| 8 [- 48 2
339 |~ & 500 |110/02/26 [4- ¢ PRix % A ¥pfre|E |- &% =
340 | = = 215 |110/02/26 [4- ¢ PRix % E¥pfee|E |- &% =
341 |#R 5 o 6,000 [110/02/26 |4+ € PR7% % L ¥pfee|® |- &k =
342 |3z ;2 10, 000 |110/02/26 |4 ¢ PRF* % Lpfee{d |- 48 =
343 92 4 300 [110/02/26 [A- & prix2 S| |- 4nd =
344 [ 5 4. 100 |110/02/26 |4+ € PRix % Espgee|{ 8 |- & 2
345 M & & 100 [110/02/26 |4+ ¢ PRAx2 Lpsce{E |- 42 =
346 |z 100 [110/02/26 |4+ ¢ PRAx 2 Lpsee{E |- 42 =
347 |1 % 100 [110/02/26 |4 ¢ PRAx2 Lpsee{E |- 42 =
348 | % ¢ % 500 [110/02/26 [4- ¢ PRFx% Lapfee{d |- 48 =
349 [% 7 4r 500 [110/02/26 [A- & pRix% Lipfee|E |- &b =
350 [ % s F 500 [110/02/26 |4 § PRix% L ¥pfee{q |- &g =
351 | % ¢z #r 500 [110/02/26 [4- ¢ PRAx 2 Lpfee{® |- &b =
352 |2 2= 500 [110/02/26 [+ ¢ priez &ipfer{® |- 42 =
353 | % x4 500 [110/02/26 [+ ¢ priez Lipfer{® |- 42 =
354 |# & {2 200 [110/02/26 |4 § PRix% L¥pfee{q |- &g =
355 |z ac 5| 200 [110/02/26 [+ ¢ prirz Lipfer{® |- 42 =
356 | 4g 200 [110/02/26 [+ ¢ prirz Lipfer{® |- 42 =
357 |# i fie- 200 |110/02/26 |4 § PRix% L¥pfee{q |- &g =
358 | 2 < 100 [110/02/26 |4+ € PRFF%2 LEpfr| & |- &%~
359 | = % 1 4 Jx » 3,169 |110/02/26 |4 ¢ PRI*% L¥pfc{® |- & ~©
360 | 36 1,000 [110/02/26 |A ¢ prir 2 Eepsee|E [~ 4 2
361 |F 7 4& 1,000 [110/02/26 |A ¢ prir 2 Eepsee|E  [- 4 »
362 |k & 2,000 |110/02/26 |A- € PRFx % Lapfee{d |- 48 =
363 e P & 10,000 [110/02/26 |4 ¢ rRix % Litser{®  |[2d s =
364 |¥ % 2,300 [110/02/26 [ ¢ pRix3 Lt ® |2imE s~
365 % & 200 [110/02/26 [A- g PRI+ 2 Lupfer|R |2 % & 2
366 [Zrm ki I | 20,000 [110/02/26 |4 € PR3 Lipfer|d. |25 -
367 | w2 i 48,000 [110/02/26 |4+ ¢ PRix 2 Lirser|d |2 % 7
368 1% & < 500 [110/02/26 |4+ ¢ PRFx2 &ipfce{d M6 d =




